# 9. Appendix

I. Mass spectrometric proteolytic peptide map from the dissolved crystal after tryptic digest. Peptide sequence, DPNTVDAFNGQTDAER was identified corresponding to amino acid residues 256-271 from KorB.





# II. N-terminal sequencing results from the dissolved crystal (amino acid residues 117-126, RYRGSKWAGK were identified)

# III. Summary of KorB-O—O<sub>B</sub> contacts (Distances in Å)

Residue	Protein	Overlapping DNA stands					
(contact)	Molecule	E/I	F/J	H/K	G/L		
Lys171	А	3.01/2.42					
NZ-O1P (THY3)	В		2.43/2.98				
	С			2.59/2.82			
	D				2.40/3.03		
Gly172	А	2.72/2.93					
N-O2P (BRU2)	В		2.63/2.93				
	С			2.74/3.08			
	D				2.81/2.68		
Ser181	А						
(THY12)	N-O2P		2.70/3.22				
	OG-O2P		3.02/2.53				
	В						
	N-O2P	3.08/2.94					
	OG-O2P	2.54/2.98					
	С						
	N-O2P				2.68/3.34		
	OG-O2P				2.83/2.62		
	D						
	N-O2P			3.08/2.97			
	OG-O2P			2.43/3.06			
Thr186	А	2.68/2.82					
OG1-O2P	В		2.96/2.76				
(THY3)	С			2.66/2.77			
	D				2.73/2.67		
Val210	А		3.03/2.81				
N-O2P	В	3.10/2.84					
(GUA10)	С				2.87/3.01		
	D			2.96/2.88			
Thr211	А		3.26/2.76				
N4 (CYT11) -	В	2.84/3.03					
OG1	С				2.79/2.86		
	D			3.50/2.73			
Lys221	А	3.40/3.10					
NZ-O1P	В		3.85/4.24				
(THY4)	С			3.43/2.90			
	D				2.56/3.00		

Arg240	А				
NH1-O6	NH1-O6		3.41/2.89		
(GUA10)	NH2-N7		3.50/2.83		
	В				
	NH1-O6	3.48/2.84			
	NH2-N7	3.28/2.70			
	С				
	NH1-O6				3.59/2.68
	NH2-N7				3.28/2.65
	D				
	NH1-O6			3.22/2.89	
	NH2-N7			3.15/2.82	
Arg247	А				
(THY5)	NH1-O2P	3.75/3.04			
	NH2-O1P	3.68/2.73			
	В				
	NH1-O2P		<u>3.93</u> /2.98		
	NH2-O1P		<u>3.88</u> /2.66		
	С				
	NH1-O2P			3.42/3.05	
	NH2-O1P			<u>3.94</u> /2.51	
	D				
	NH1-O2P				3.46/3.71
	NH2-O1P				2.86/3.36

# IV. Summary of KorB-O—O<sub>B</sub> contacts mediated by water molecules (Distances in Å)

Residue	Protein	Overlapping DNA stands					
(contact)	Molecule	E/I	F/J	H/K	G/L		
Lys171N W63*	A	2.86 2.40/2.64					
-2BRU O1P W222*	В		3.13 2.16/2.51				
W136*	С			2.89 2.40/2.22			
W60*	D				3.02 3.06/2.20		
Pro182 O W6	A	2.94 2.92/2.43					
3THY O2P W35	В		2.81 2.71/3.31				
W14	С			2.87 2.44/3.48			
W13	D				2.86 2.51/3.00		
Thr186OG1 W6	Α	3.38 2.92/2.43					
3THY O2P W35	В		3.53 2.71/3.31				
W14	С			3.39 2.44/3.48			
W13	D				3.27 2.51/3.00		
Arg208N W46	Α		2.72 2.93/2.73				
9Cyt/GuaO2P W78	В	2.97 2.68/2.81					
W145	С				2.83 2.69/3.00		
W74	D			2.80 2.63/2.72			
Asp209 W46	A N-9Cyt/GuaO2P		3.05 2.93/2.73				
W131	OD1-10GuaO2P		3.29 2.85/2.83				
W22*	OD2-9Cyt/GuaO2P		2.89 3.09/2.18				
W78	B N-9Cyt/GuaO2P	3.25 2.68/2.81					
W12	OD1-10GuaO2P	3.33 3.23/2.43					
W32	OD2-9Cyt/GuaO2P	2.71 3.27/2.44					
W145	C N -9Cyt/GuaO2P				3.16 2.69/3.00		
W18	OD1-10GuaO2P				3.07 2.93/2.67		
W41*	OD2-9Cyt/GuaO2P				2.65 2.06/3.20		
W74	D N -9Cyt/GuaO2P			3.20 2.63/2.72			
W1	OD1-10GuaO2P			3.33 3.22/2.38			
W108	OD2-9Cyt/GuaO2P			2.83 3.65/2.44			
Thr211 W131	A N & OG1		3.15 & 2.71				
	-10GuaO2P		2.85/2.83				
W12	B N & OG1	3.07&2.56					
	-10GuaO2P	3.27/2.43					
W18	C N & OG1				2.99 & 2.56		
****	-10GuaO2P				2.93/2.67		
WI	D N & OG1			3.05 & 2.64			
	-10GuaO2P			3.14/2.38			

Glu215OE2	W86	A -7GuaO6	3.42 2.	87/2.94	[	1	
	W119	-6AdeN7	3.08 3.	38/3.25			
	W236	B -7GuaO6			3.49 3.12/2.56		
	W40	-6AdeN7			2.87 3.41/3.82		
	W45	C -6AdeN7				3.03 3.80/3.08	
	W65	-7GuaO6				3.37 3.45/2.04	
	W114	D -7GuaO6					3.37 2.74/3.06
	W156	-6AdeN7					2.87 3.25/3.74
Thr218	W143	A OG1-5ThyO2P	2.70 3	.36/3.29			
	W159	OG1-4ThyO2P	3.22 2	.45/2.65			
	W26	B OG1-5ThyO2P			2.75 3.19/3.37		
	W181	OG1-4ThyO2P			2.68 2.85/2.58		
	W144	C OG1-5ThyO2P				2.79 3.12/3.36	
		no 2 <sup>nd</sup> water					
	W121	D OG1-4ThyO2P					2.81 2.77/2.59
	W147	OG1-5ThyO2P					2.83 2.67/3.02
Ile238 O	W124*	А			2.92 3.34/2.36		
9Cyt/GuaO2	Р						
	W210	В	2.67	3.65/2.47			
	W248	С					2.95 2.89/3.00
	W74	D				<u>4.11</u> 2.63/2.72	
Arg240N	W112	A -O2P			2.89 2.79/3.01		
8Cyt	W25	B -O2P	3.06 2.72	2/3.01			
	W28	С -О2Р					2.89 2.77/2.95
	W194	D -O2P				2.83 2.86/3.00	
Ala183N	W21	А			3.07		
		13AdeN7			2.93/3.56		
	W5	В	3.20				
		13AdeN7	2.77/	3.33			
	W3	С					3.10
		13AdeN7					2.91/3.35
	W8	D				3.17	
		13AdeN7				3.24/2.67	
Gly241N	W167*	А			2.69 3.50/2.24		
8CytO2P	W43*	В	2.87 3.4	3/2.08			
	W169*	С					2.99 2.18/2.90
	W263*	D				2.80 3.17/1.99	

\* Water molecules with half occupancy

### V. Van der Waals interactions

## (Distances in Å)

Residue	Protein Molecule	Overlapping DNA stands					
(contact)		E/I	F/J	H/K	G/L		
Ser181OG	Α		3.69/4.57				
-C5M 12Thy	В	3.64/4.49					
	С				3.85/4.71		
	D			4.73/4.07			
Pro182CB	А	3.84/3.53					
-C5M 3Thy	В		3.28/4.03				
	С			3.06/4.29			
	D				3.69/3.54		
Ala183CB	А						
	-C5M 4Thy	3.83/4.25					
	-C5M 12Thy		3.47/3.62				
	В						
	-C5M 4Thy		3.81/4.38				
	-C5M 12Thy	3.45/3.66					
	С						
	-C5M 4Thy			3.95/4.34			
	-C5M 12Thy				3.55/3.78		
	D						
	-C5M 4Thy				3.91/4.36		
	-C5M 12Thy			3.65/3.69			
Thr186OG1	Α	3.49/3.87					
C5M 3Thy	В		3.52/4.06				
	С			4.02/3.62			
	D				4.55/3.39		
Thr186CB	А	3.60/4.13					
C5M 4Thy	В		3.43/4.30		1		
	С			3.81/3.94	1		
	D				3.76/4.46		
Gln187OE1	А		3.91/3.51				
C5M 12Thy	В	3.94/3.58					
	С				3.80/3.66		
	D			3.89/3.65			



#### VI. PROHECK summary of 1R71 (KorB-O-O<sub>B</sub> complex)









### VII. PROMOTIF summary of 1R71 (KorB-O-O<sub>B</sub> complex)

	1R71_summary_01.ps		Su	ummary: 1R71		
		TRANSCRIPTION/E	NA M	MOL_ID: 1; MOL_ID: 1;		
Sequ	enc	e:				
EADQV AFKKR AFITQH NELTPI WLDDI	SEQUENCE. EADQVIENLQRNELTPREIADFIGRELAKGKKKGDIAKEIGKSPAFITQHVTLLDLPEKIADAFNTGRVRDVTVVNELVT AFKKRPEEVEAWLDDDTQEITRGTVKLLREFLDEYNEADQVIENLQRNELTPREIADFIGRELAKGKKKGDIAKEIGKSP AFITQHVTLLDLPEKIADAFNTGRVRDVTVVNELVTAFKKRPEEVEAWLDDDTQEITRGTVKLLREFLDEADQVIENLQR NELTPREIADFIGRELAKGKKKGDIAKEIGKSPAFITQHVTLLDLPEKIADAFNTGRVRDVTVVNELVTAFKKRPEEVEA WLDDDTQEITRGTVKLLREFLDNEADQVIENLQRNELTPREIADFIGRELAKGKKKGDIAKEIGKSPAFITQHVTLLDLP EKIADAENTGRVRDVTVVNELVTAFKKRPEEVEAWLDDDTOEITPGCTVKLL PEELDE					
		Number	of resid	dues is: 457 Number of chains is: 4		
	Nı	mber of strands is: 0	Nu	umber of alpha helices is: 32 Number of 3,10 helices is: 4		
	Perc	entage of strand is: 0.0	Perc	centage of alpha helix is: 68.5 Percentage of 3,10 helix is: 1.8		
Secon	dar	y Structure Summary:				
		НТНТННGНТННТННТ	нтнтн	ІĞНТННТННТНТНТНĞНТННТННТНТНТНĞНТННТН		
		HELI	CES	<b>G-TURNS</b>		
		Location	п Туре	e Location Seq Type		
		C 224 -C 2	32 H	D 232 - 234 DDD INV		
HELICE	S	C 240 -C 2	49 H 47 Ц			
Location	Evne	D 154 -D 1	66 H			
A 141 -A 148	Н	D 171 -D 1	77 H			
A 154 -A 166	Η	D 182 -D 1	89 H			
A 171 -A 178	н	D 190 -D 1	92 3			
A 182 - A 189	Н	D 196 -D 2	203 H			
A 190 - A 192	3 ц	D 210 -D 2	22 H			
A 190 - A 203	н	D 224 -D 2	232 H			
A 224 -A 232	н	D 240 -D 2	251 H			
A 240 -A 251	н					
В 139 -В 148	Н	B-TU	RNS			
В 154 -В 166	Н	Location	Seq 7	Туре		
В 171 -В 177	Н	A 205 - 208 G	RVR	VIII		
В 182 -В 189	Η	A 233 - 230 D B 205 - 208 G				
В 190 -В 192	3	B 233 - 236 D	DTO	T I		
B 196 -B 203	Н	C 205 - 208 G	RVR	VIII		
B 210 -B 222	н	C 233 - 236 D	DTQ	I		
В 224 -В 232 В 240 -В 250	п н	D 147 - 150 L	QRN	IV		
C 141 -C 148	н	D 205 - 208 G	RVR	VIII		
C 154 -C 166	Н	D 233 - 236 D	DTQ	Ι		
C 171 -C 177	Н					
C 182 -C 189	н	G-TU	RNS			
C 190 -C 192	3	Location	Seq 7	Type		
C 196 -C 203	Н	B 250 - 252	LDÊ I	INV		
C 210 -C 222	Η	C 249 - 251	FLD I	INV		

1R71\_helix\_tab01.ps

Helices: 1R71

Helix Number	Start Residue	End Residue	Helix Type	No. of Residues	Sequence
1	A 141	A 148	α	8	DQVIENLQ
2	A 154	A 166	α	13	PREIADFIGRELA
3	A 171	A 178	α	8	KGDIAKEI
4	A 182	A 189	α	8	PAFITQHV
5	A 190	A 192	3 <sub>10</sub>	3	TLL
6	A 196	A 203	α	8	EKIADAFN
7	A 210	A 222	α	13	VTVVNELVTAFKK
8	A 224	A 232	α	9	PEEVEAWLD
9	A 240	A 251	α	12	RGTVKLLREFLD
10	B 139	B 148	α	10	EADQVIENLQ
11	B 154	B 166	α	13	PREIADFIGRELA
12	B 171	<b>B</b> 177	α	7	KGDIAKE
13	B 182	B 189	α	8	PAFITQHV
14	B 190	B 192	3 <sub>10</sub>	3	TLL
15	B 196	B 203	α	8	EKIADAFN
16	B 210	B 222	α	13	VTVVNELVTAFKK
17	B 224	B 232	α	9	PEEVEAWLD
18	B 240	B 250	α	11	RGTVKLLREFL
19	C 141	C 148	α	8	DQVIENLQ
20	C 154	C 166	α	13	PREIADFIGRELA
21	C 171	C 177	α	7	KGDIAKE
22	C 182	C 189	α	8	PAFITQHV
23	C 190	C 192	3 <sub>10</sub>	3	TLL
24	C 196	C 203	α	8	EKIADAFN
25	C 210	C 222	α	13	VTVVNELVTAFKK
26	C 224	C 232	α	9	PEEVEAWLD
27	C 240	C 249	α	10	RGTVKLLREF
28	D 139	D 147	α	9	EADQVIENL
29	D 154	D 166	α	13	PREIADFIGRELA
30	D 171	D 177	α	7	KGDIAKE

1R71\_helix\_tab02.ps

Helices: 1R71

Helix Number	Start Residue	End Residue	Helix Type	No. of Residues	Sequence
31	D 182	D 189	α	8	PAFITQHV
32	D 190	D 192	3 <sub>10</sub>	3	TLL
33	D 196	D 203	α	8	EKIADAFN
34	D 210	D 222	α	13	VTVVNELVTAFKK
35	D 224	D 232	α	9	PEEVEAWLD
36	D 240	D 251	α	12	RGTVKLLREFLD

# 1R71\_helix\_geom01.ps Helix Geometry: 1R71

Helix	Length	Unit	Residues		Deviation
Number	(A)	Rise (A)	per turn	Pitch (A)	from ideal (degrees)
1	12.22	1.47	3.63	5.34	12.4
2	19.97	1.50	3.60	5.39	4.9
3	12.52	1.54	3.66	5.65	12.4
4	12.81	1.54	3.65	5.62	13.4
5	-	-	-	-	-
6	12.08	1.45	3.69	5.35	13.6
7	20.23	1.54	3.51	5.42	5.6
8	14.00	1.49	3.61	5.37	8.6
9	18.85	1.51	3.70	5.60	9.5
10	15.48	1.50	3.59	5.39	6.1
11	20.01	1.50	3.64	5.45	5.6
12	10.95	1.50	3.59	5.38	10.2
13	12.78	1.54	3.63	5.58	13.5
14	-	-	-	-	-
15	12.00	1.44	3.70	5.32	14.2
16	20.20	1.54	3.53	5.43	4.8
17	14.05	1.49	3.60	5.38	10.4
18	16.67	1.47	3.66	5.38	7.5
19	12.75	1.52	3.72	5.64	12.3
20	20.12	1.50	3.61	5.41	4.8
21	10.93	1.49	3.63	5.40	9.4
22	12.71	1.52	3.65	5.55	13.1
23	-	-	-	-	-
24	12.21	1.48	3.70	5.46	14.7
25	20.27	1.55	3.52	5.45	5.6
26	14.39	1.53	3.67	5.62	10.5
27	15.36	1.48	3.62	5.37	3.5
28	13.54	1.42	3.66	5.20	9.2
29	20.12	1.50	3.61	5.43	5.9
30	10.90	1.48	3.63	5.39	9.2

Helix Number	Length (A)	Unit Rise (A)	Residues per turn	Pitch (A)	Deviation from ideal (degrees)
31	12.78	1.53	3.62	5.55	13.3
32	-	-	-	-	-
33	11.95	1.44	3.70	5.33	13.6
34	20.31	1.55	3.53	5.47	6.1
35	14.15	1.51	3.64	5.49	10.4
36	18.62	1.49	3.68	5.49	8.9

# 1R71\_helix\_geom02.ps Helix Geometry: 1R71

### VIII. SFCHECK summary

# Structure Factor Check 1R71

Title: CRYSTAL STRUCTURE OF THE DNA   COMPLEX WITH THE OPERATOR DN   Date: 17–OCT–03   PDB code: 1R71	BINDING DOMAIN OF KORB IN A
Crystal     Cell parameters:     a: 110.44 Å   b: 110.44 Å   c: 160.53 Å     α: 90.00°   β: 90.00°   γ: 120.00°     Space group: P 32 2 1   Space group: P 32 2 1	$\begin{tabular}{ c c c c c } \hline Structure Factors \\ \hline Input \\ Nominal resolution range: 27.61 - 2.20 Å \\ Reflections in file: 57669 \\ Unique reflections above 0: 57669 \\ above 1\sigma: 57020 \\ above 3\sigma: 42783 \\ \hline SFCHECK \\ Nominal resolution range: 27.61 - 2.20 Å \\ max. from input data, min. from author \\ Used reflections: 57669 \\ \hline \end{tabular}$
Model6769 atoms (347 water molecules)Number of chains:13Volume not occupied by model:57.9 % <b> (for atomic model):44.2 Ų<math>\sigma(B)</math>:19.75 ŲMatthews coefficient:2.98Corresponding solvent % :58.43</b>	Completeness:99.5 %R_stand(F) = $\langle \sigma(F) \rangle / \langle F \rangle$ :0.045Anisotropic distribution of Structure Factors ratio of eigen values:0.90890.90891.0000B_overall (by Patterson):35.6 ŲOptical resolution:1.74 ÅExpected opt. resol. for complete data set:1.74 ÅEstimated minimal error:0.031 ÅModel vs. Structure FactorsR-factor for all reflections:0.234Correlation factor:0.929R-factor:0.239for F > 2.0 \sigma20.0 Å
RefinementProgram:REFMAC 5.1.24Nominal resolution range:30.00 – 2.20 ÅReported R-factor:0.195Number of reflections used:54758Reported Rfree:0.25Sigma cut-off:N.A.	nom. resolution range: 30.00 - 2.20 Å   reflections used: 57017   Rfree: 0.285   Nfree: 2872   R-factor without free-refl.: 0.236   Non free-reflections: 54145 <u> (error in coords by Luzzati plot): 0.285 Å   Estimated maximal error: 0.148 Å   DPI: 0.261 Å   Scaling Scale:   Scale: 0.826   Bdiff: -5.99   Anisothermal Scaling (Beta): 0.7451 0.7451 0.9883 0.3726 0.0000 0.0000   Solvent correction – Ks,Bs: 0.805 238.647</u>

SPCHECK 6.0.3

